


















> # Q16

>     #a) Calculate beta-hat
                  [,1]
Intercept 0.6080747411
VERBAL    0.0023070007
MATH      0.0009973607

>     #b) Predict GPA for Verbal=600, Math=700
[1] 2.690428

>     #c) Mean of yhat and mean of y
[1] 2.6301 2.6301

>     #d) epsilon-hat, vector of residuals
> mean(epsilonhat)
[1] -1.657453e-14

>     #e) Inner product of yhat and epsilonhat
              [,1]
[1,] -8.835738e-12

>     #f) Inner product of epsilonhat and total score is zero because total is in 
the space spanned by the columns of X
              [,1]
[1,] -4.190341e-09

> # Q17: Faraway Ch. 2 Exercise 1, page 25. 

> 
> # (a) What percentage of variation in the response is explained by these 
predictors? 
[1] 0.5267234

> # (b) Which observation has the largest (positive) residual? Give the case 
number.
      24 
94.25222 

> # (c) Compute the mean and median of the residuals.
[1] -3.065293e-17 -1.451392e+00

> # (d) Compute the correlation of the residuals with the fitted values.
[1] -1.070659e-16

> # (e) Compute the correlation of the residuals with the income.
[1] -7.242382e-17

> # (f) For all other predictors held constant, what would be the difference in 
predicted expenditure on gambling for a male compared to a female?
      sex 
-22.11833 
> # 22 pounds LESS for female.


